

And the image of the thigmtal arc (Arri, Ar) is
a straight line sequent by the property of the
map
$$z \mapsto z^{1/kr}$$
.
Hence comparing with a rotation of a suitable angle θ_{k} ,
 $e^{i\theta}\theta_{k}$ maps (Arri, Ar) into iR .
Schwarz reflection principle $\Rightarrow e^{i\theta}fire and there fire
 $dz = x + iy$: $A_{k-1} \times (A_{k+1})$.
 $A_{k+1} = A_{k-1} \times (A_{k+1}) \times (A_{k+1})$.
 $A_{k+1} = A_{k-1} \times (A_{k+1}) \times (A$$

If remains to consider
$$\exists = x \in (A_{k+1}, A_k)$$
.
Note that $F |_{(A_{k+1}, A_k)}$ is injective, $f_{k} |_{(A_{k+1}, A_k)}$ is also
injective. Hence $\frac{\partial}{\partial x} F_k(x) \neq 0$ if $x \in (A_{k+1}, A_k)$. (e Giventue)
Since f_{k} is $\theta_k = 0$ in a ubd of $z = z$, $f_k(x) \neq 0$.
We've shown that $f_k(z) \neq 0$, $\forall z \in \{A_{k+1} < Re^{|z|} < A_{k+1}\}$.
For $z \in \{A_{k+1} < Re^{|z|} < A_{k+1} \\ S \cap \{H_k\} = A_k (F(z) - a_k) \cdot \frac{f_k(z)}{f_{k+1}} \\ = a_k \cdot f_k(z) = a_k f_k(z) = a_k f_k(z)$
 $if (z) = a_k \cdot (F(z) - a_k) \cdot \frac{f_k(z)}{f_{k+1}} \\ = a_k \cdot f_k(z) = a_k f_k(z)$
Solve $f_k(z) \neq 0$, $\frac{F'(z)}{f_{k+1}} + \frac{f_k(z)}{f_{k+1}} \\ f'(z) = a_k \cdot (R^{|z|})$
Solve $f_k(z) \neq 0$, $\frac{F'(z)}{F(z)}$ extended to a meromorphic
 $f_{k+1} < Re^{|z|} < A_{k+1} < Re^{|z|} < A_{k+1} \\ (clear from the classifier of f_{k} on the upper hell strip
and the vellector principle)
By Taylor's expansion of $f_{k+1}(z) = -\beta_k$.$

$$\frac{F'(z)}{F'(z)} + \sum_{l=1}^{n} \frac{\beta_{l}}{z - A_{l}} = \left[\beta_{k} \cdot \left(\frac{1}{z - A_{k}} - \frac{\eta_{k}'(z)}{\eta_{k}(z)}\right) + \frac{\beta_{l}'(z)}{f_{l}'(z)}\right] + \sum_{l+k} \frac{\beta_{l}}{z - A_{l}}$$

$$= E_{k}(z)$$
width $E_{k}(z)$ is thele in $(A_{k-1} < Re(z) < A_{k})$ $\left(ab \frac{1}{z - A_{l}}, dtk, are also the in (A_{k-1} < Re(z) < A_{k})\right)$
Stimilarly, there exists $E_{1}(z)$ thele in $(-\infty < Re(z) < A_{z})$
such that
$$\frac{F''(z)}{F'(z)} + \sum_{l=1}^{n} \frac{\beta_{l}}{z - A_{l}} = E_{1}(z), \quad \forall z \in (-\infty < Re(z) < A_{z}),$$
and $E_{n}(z)$ thele is $A_{n-1} < R_{2}(z) < \infty$
such that
$$\frac{F''(z)}{F'(z)} + \sum_{l=1}^{n} \frac{\beta_{l}}{z - A_{l}} = E_{1}(z), \quad \forall z \in (A_{m} < Re(z) < \infty),$$

$$E_{l}(z) = \frac{F'_{l}(z)}{A_{l}} + \sum_{l=1}^{n} \frac{\beta_{l}}{z - A_{l}} = E_{n}(z), \quad \forall z \in (A_{m} < Re(z) < \infty),$$

$$E_{l}(z) = \frac{F_{n}(z)}{A_{1}} + \frac{A_{2} \cdots A_{l+1}}{A_{2}} + \frac{A_{m} \cdots A_{n}}{A_{n}} + \frac{A_{m}}{A_{n}}$$

-

 $\frac{\text{Step 2}}{\text{Note that the domains of } F'(z)/F(z)}$ Note that the domains of Ek & Ekti overlaps on $\frac{1}{A_k} < \text{Re}(z) < A_{kti} \\ \text{, } E_k & \text{Ekti together define an analytic}$ $\int \text{auction on } \{A_{k-1} < \text{Re}(z) < A_{kt2} \\ \text{, } (aud agree on |H) \\ \hline A_{kt} \\ \hline A_{kti} \\ \hline$

And so on, E_{1}, \dots, E_{n} all together defines an entire function E(z) (on (-60 < Re(z) < 1005)). This implies, $\frac{F'(z)}{F(z)} + \sum_{k=1}^{n} \frac{\beta_{k}}{z - A_{k}}$ is entire $F'(z) = \frac{\beta_{k}}{z - A_{k}}$ (More precisely, extends to an entire function.)

$$\frac{\text{Steps}}{\text{F(z)}} : \quad \text{Estimate of } \stackrel{\text{F(z)}}{\text{F(z)}} \quad \text{f(z)} \quad \text{at } |z| \neq \infty}.$$
Note that by uniquoness of analytic cartinuation, the extension
of $\frac{\text{F(z)}}{\text{F(z)}}$ given above is equal to the extension given below:
Consider $R > \max\{|A_{1}|, |A_{1}|\}, \text{ then } \text{F(z)}$

$$\sum \text{holomorphic on } |H \land \{|z| > R \}.$$

Then Thm 4.2 (and subilar argument as in Prop 4.1 (is) \Rightarrow F(z) maps (- ∞ ,-R)U(R,+ ∞) into the straight line segment (a_n, a_n) (an odge of \neq). Hence one can apply Schwarz reflect principle as before to extend F(z) analytically to ₹ Z=JZI>R5. Moveover, suicilar angument as in the proof of this (=) = 0 before, we have F conformel \Rightarrow $F(z) \neq 0$ $\forall z \in \{(z| > R \})$. And hence F'(Z) F(Z) is well-defined on {121>R { Since this extension coincides with the provious one on {121>RSDIH, they are identical. Now, by Laurent expansion on {171>R] $F(z) = C_0 + \frac{C_k}{z_k} + \frac{C_{k+1}}{z_{k+1}} + \dots \quad \text{with } C_k \neq 0 \quad k \geq 1$ and (0=F(00) Eff. $= \int_{z_{k+2}} F(z) = -\frac{kC_{k}}{z^{k+1}} - \frac{(k+1)C_{k+1}}{z^{k+2}} + \cdots$ $= \frac{k(k+1)C_{k}}{z^{k+2}} + \frac{(k+1)(k+2)C_{k+1}}{z^{k+3}} + \cdots$ $\Rightarrow \frac{F(z)}{F(z)} = -\frac{(k+1)}{z} \cdot \frac{(1+\frac{kt^2}{k} \cdot \frac{C_{k+1}}{C_k} \cdot \frac{1}{z} + \cdots)}{(1+\frac{kt!}{k} \cdot \frac{C_{k+1}}{C_k} \cdot \frac{1}{z} + \cdots)} \quad fu \{ |z| > R \}$ $\Rightarrow \qquad \frac{|F'(z)|}{|F'(z)|} \Rightarrow 0 \quad as \quad |z| \Rightarrow ss.$

Final Step:
By Steps 2 4 3, the entire function
$$\frac{F'(z)}{F'(z)} + \sum_{k=1}^{2} \frac{f_{k}}{z - A_{k}} \rightarrow 0 \text{ as } |z| \rightarrow 0.$$

Liouville's Three =
$$\frac{F'(z)}{F'(z)} + \frac{\beta}{2} \frac{\beta k}{z - A_k} = 0$$
.

Let
$$Q(z) = \frac{1}{(z-A_1)^{\beta_1} \cdots (z-A_n)^{\beta_n}} = S(z)$$

Then $\forall z \in \mathbb{H}$,

Then
$$\forall z \in \mathbb{H}$$
,

$$\frac{d}{dz} \left(\frac{F(z)}{Q(z)} \right) = \frac{F'(z)}{Q(z)} \left[\frac{F'(z)}{F'(z)} + \sum_{k=1}^{n} \frac{\beta_k}{z - A_k} \right] = 0$$

$$\Rightarrow \quad F(z) = C_1 Q(z) \quad \forall z \in \mathbb{H}, \text{ for some constant } C,$$

$$(\overset{\text{thence}}{=})$$

$$F(z) = C_1 S(z) + C_2, \quad \forall z \in \mathbb{H}, \text{ for some const. } C_2.$$

$$\bigotimes$$

Note that in Thm 4.6,
$$F(\infty)$$
 can't be a vertex of $\#$.
If $F(\omega)$ is a vertex of $\#$, then the formula actually
simpler with only $(n-1)$ -degree in the denominator.

With the same notations as before, we have

Let $A_k^{\star} = \mathcal{V}(A_k) = \frac{1}{(A_{n-1}+1) - A_k} = \frac{1}{(A_{n-1} - A_k) + 1} > 0 \text{ and } \neq \infty$.

Since $(A_{n-1} - A_k) + 1 > 1$, $\forall k = 1$; n-1.

Also
$$A_{k}^{\star} - A_{k-1}^{\star} = \frac{1}{(A_{n-1}+1) - A_{k}} - \frac{1}{(A_{n-1}+1) - A_{k-1}}$$

$$= \frac{A_{k} - A_{k-1}}{(A_{n-1} - A_{k}+1)(A_{n-1} - A_{k-1}+1)} > 0$$

For
$$W = \infty$$
, we have
 $O = \mathcal{V}^{1}(\infty)$

Hence
$$F \circ Y = |H| \rightarrow P$$
 confirmed and
maps $O < A_1^* < \dots < A_{n-1}^*$ to $A_{\infty}, a_1, \dots, a_{n-1}$ of P
(still in order)
with exterior angles $B_{0}, B_{1}, \dots, B_{n-1}$ satisfying
 $B_{0} + \sum_{k=1}^{n-1} B_{k} = 2$.
Applying Thm 4.6, \exists constants $C_1 < C_2$ such that

$$F \circ \Psi(z) = C_{1}^{\prime} \int_{0}^{0} \frac{ds}{5^{\beta \omega} (s - A_{1}^{\ast})^{\beta_{1}} \cdots (s - A_{n+1}^{\ast})^{\beta_{n-1}}} + C_{2}^{\prime}$$

$$\Rightarrow F(w) = C_{1}^{\prime} \int_{0}^{\sqrt{w}} \frac{ds}{5^{\beta w} (3 - A_{1}^{*})^{\beta_{1}} \cdots (3 - A_{n+1}^{*})^{\beta_{n-1}}} + C_{2}^{\prime}$$

$$= C_{1}' \left(\int_{-\frac{1}{2}}^{\frac{1}{2}} \frac{f(0)}{0} + \int_{0}^{\frac{1}{2}} \frac{d5}{5^{\beta \omega} (3 - A_{1}^{*})^{\beta_{1}} \dots (3 - A_{n_{1}}^{*})^{\beta_{n-1}}} + C_{2}' \right)$$

Note that $F(0) = \infty$. Since the integral conveyes, the

familla is valid (in fact,
$$C_1' \int_{0}^{\frac{1}{5}} \frac{dz}{dz} + c_2'$$
 conveyes
to a point on $\frac{1}{5}$).

$$F(w) = C_{1} \int_{\infty}^{q(w)} \frac{ds}{5^{\beta w} (3 - A_{1}^{*})^{\beta_{1}} \cdots (3 - A_{n+1}^{*})^{\beta_{n-1}}} + C_{2}$$

where
$$C_z = C_1 \int_{a}^{\psi(a)} \frac{dz}{d\overline{z}} + C_z$$

Now substitute $\varphi = \Upsilon(5) = (An-1+1) - \frac{1}{5}$

Then
$$S = \frac{1}{A_{m-1}+1-\varphi}$$
 and $dS = \frac{d\varphi}{(A_{n-1}+1-\varphi)^{2}}$.
 $\Rightarrow F(W) = C_{2} + C_{1}^{\prime} \int_{0}^{W} \frac{1}{\frac{\varphi^{-1}(\varphi)^{\beta_{\alpha}}}{\frac{1}{k-1}} (\frac{1}{2}(\varphi)^{-A_{k}})^{\beta_{k}}} \cdot \frac{d\varphi}{(A_{n-1}+1-\varphi)^{2}}$

Note that
$$\mathcal{F}(\varphi) - A_{k}^{\star} = \mathcal{F}(\varphi) - \mathcal{F}(A_{k})$$

$$= \frac{1}{A_{n-1}+1-\varphi} - \frac{1}{A_{n-1}+1-A_{k}}$$
$$= \frac{\varphi - A_{k}}{(A_{n-1}+1-\varphi)(A_{n-1}+1-A_{k})}$$

$$f(w) = C_{z} + C_{1}^{\prime} \int_{0}^{w} \frac{(A_{n-1}+I-\varphi)^{k_{\infty}} \prod_{k=1}^{n-1} [A_{n-1}+I-\varphi)(A_{m_{1}}+I-A_{k})]^{\beta_{k}}}{\prod_{k=1}^{n-1} (\varphi - A_{k})^{\beta_{k}}} \cdot (A_{m-1}+I-\varphi)^{2}$$

Value
$$2 = \beta_{\infty} + \sum_{k=1}^{n-1} \beta_k$$

$$F(W) = C_{z} + C_{1}^{\prime} \cdot \frac{\prod_{k=1}^{n-1} (A_{n-1} - A_{k} + 1)^{\beta_{k}}}{\prod_{k=1}^{m} (\varphi - A_{k})^{\beta_{k}}} + C_{z},$$

$$= C_{1} \int_{0}^{W} \frac{d\varphi}{\prod_{k=1}^{n+1} (\varphi - A_{k})^{\beta_{k}}} + C_{z},$$

where
$$C_1 = C_1' \cdot \frac{n-1}{11} (A_{n-1} - A_k + 1)^{\beta_k}$$

In Eq.3 of section 4.1, it was shown that the elliptic integral

$$I(z) = \int_{0}^{z} \frac{dz}{\sqrt{(1-z^{2})(1-k^{2}z^{2})}} \qquad (0 < k < 1)$$

maps R-axis to the boundary of the rectaugle: -Ktik' Ktik' R -K K

where

$$K = K(k) = \int_{0}^{l} \frac{dx}{\sqrt{(1-x^{2})(1-k^{2}x^{2})}}$$

$$k' = K(k) = \int_{1}^{1/k} \frac{dx}{(x^2 - 1)(1 - k^2 x^2)}$$

•

However, we neutrined that we haven't proved that I(Z) maps IH carformally onto R. Now, we can show it by Thm 4.6 as follows. For this purpose, we need a lemma

Lemma (Ex 15 of the Toxtbook on pg 251)
(a) If
$$\Phi \in Aut(IH)$$
 and $\exists \underline{distinct}$ points A_1, A_2, A_3 on IR-axis
such that $\Phi(A_i) = A_i$, for $i = 1, 2, 3$.
Then $\Phi = Id_{IH}$
(b) Let $X_1 < X_2 < X_3$ and $Y_1 < Y_2 < Y_3$ ($X_i, Y_i \in \mathbb{R}$).
Then $\exists \Phi \in Aut(IH)$ such that
 $\Phi(X_i) = Y_i$, $i = 1, 2, 3$.
Same conclusion Golds if $Y_3 < Y_1 < Y_2 < Y_2$ or $Y_2 < Y_3 < Y_1$

(Pf: Ex!)

$$\frac{Pf \text{ of } I(E) : |H \rightarrow R \text{ conformal}}{\text{let } F = |H \rightarrow R \text{ be a conformal encep}} (existence by Riemann Mapping})$$

$$\frac{\text{let } A_1 < A_2 < A_3 < A_4 \quad (A_4 \text{ may} = a_5) \text{ be points that}}{\text{maps to the vertices } -K, K, K+iK', -K+iK'}$$

$$\frac{////}{F} = \frac{R}{A_1 A_2 A_3 A_4} \quad R = \frac{R}{A_1 A_2 A_3 A_4} \quad R = \frac{R}{A_2 A_3 A_4} \quad R = \frac{R}{A_2 A_3 A_4} \quad R = \frac{R}{A_2 A_3 A_4} \quad R = \frac{R}{A_1 A_2 A_3 A_4} \quad R = \frac{R}{A_$$

By Thm 4.6,
$$F$$
 maps $[A_2, A_3]$ to $[-K, K]$.
Hence $A_2 < F'(0) < A_3$

By Lemma above, $\exists \Phi \in Aut(IH)$ such that

$$\overline{\Phi}(-U=A_2, \overline{\Phi}(0)=F(0), \overline{\Phi}(U)=A_3.$$

$$\Rightarrow G: F \circ \overline{\Phi}=IH \rightarrow R \text{ conformal and satisfies}$$

$$\begin{cases} G(-V)=-K \\ G(0)=0 \\ G(U)=K \end{cases}$$

Then note that the upper-half plane IH and the rectaugle R
are symmetric with

$$x+iy = \overline{z} \mapsto -\overline{z} = -x+iy$$

$$\begin{array}{c} -\kappa^{+ik'} & \kappa^{+ik'} \\ \hline & -\kappa^{-k} & \kappa^{-k} \\ \hline & & -\kappa^{-k} \\ \hline & & -\kappa^{-$$

$$\begin{array}{l} \mathsf{K}+\mathfrak{i}\,\mathsf{K}'=\,\mathsf{F}(\mathsf{A}_{\mathsf{A}})=\mathsf{G}\left(\bar{\Phi}^{\dagger}(\mathsf{A}_{\mathsf{A}})\right)=\,\mathsf{G}^{\ast}(\bar{\Phi}^{\dagger}(\mathsf{A}_{\mathsf{A}}))=-\,\overline{\mathsf{G}}\left(-\bar{\Phi}^{\dagger}(\mathsf{A}_{\mathsf{A}})\right) \\ \Rightarrow \quad \mathsf{G}\left(-\,\bar{\Phi}^{\dagger}(\mathsf{A}_{\mathsf{A}})\right)=\,\overline{(-\mathsf{K}-\mathfrak{i}\,\mathsf{K}')}=-\mathsf{K}+\mathfrak{i}\,\mathsf{K}'=\,\mathsf{F}(\mathsf{A}_{\mathsf{I}})=\,\mathsf{G}\left(\bar{\Phi}^{\dagger}(\mathsf{A}_{\mathsf{I}})\right) \\ \\ \mathsf{By}\;\;\check{\mathsf{ujectlifty}}\;\;,\quad\; \underline{\Phi}^{\dagger}(\mathsf{A}_{\mathsf{I}})=-\,\overline{\Phi}^{\dagger}(\mathsf{A}_{\mathsf{A}}) \\ \\ \mathsf{Togetter}\;\;\mathsf{uite}\;\;\mathsf{tee}\;\;\mathsf{cytectation}\;\;,\;\;\mathsf{we}\;\;\mathsf{nuet}\;\;\mathsf{tave} \\ \quad \underline{\Phi}^{\dagger}(\mathsf{A}_{\mathsf{A}})>1\;\; \underline{\Phi}^{\dagger}(\mathsf{A}_{\mathsf{A}})=\,\overline{1}\;\; \underline{\Phi}^{\dagger}(\mathsf{A}_{\mathsf{A}}) \\ \\ \mathsf{Aud}\;\;\mathsf{foure}\;\;\; \Xi\;\;\mathsf{le}(\mathsf{0},\mathsf{I})\;\;\mathsf{st}\;\;,\;\; \underline{\Phi}^{\dagger}(\mathsf{A}_{\mathsf{A}})=\,\underline{1}\;\; . \\ \\ \mathsf{Altogetter}\;\;,\;\;\mathsf{we}\;\;\mathsf{way}\;\;\mathsf{cosume}\;\;\mathsf{fe}\;\;\mathsf{max} \\ \mathsf{F}=\mathsf{IH}\rightarrow\mathsf{P}\;\;\mathsf{aud}\;\;\mathsf{points}\;\;\mathsf{A}_{\mathsf{I}}\;\;\mathsf{A}_{\mathsf{Z}}\;\mathsf{A}_{\mathsf{S}}\;\;\mathsf{A}_{\mathsf{F}}\;\;\mathsf{at}\;\;\mathsf{teo}\;\;\mathsf{beginveg} \\ \\ \mathsf{cf}\;\;\mathsf{te}\;\;\mathsf{proof}\;\;\mathsf{saliefies} \\ \\ \\ \mathsf{F}(\mathsf{O})=\mathsf{O}\;\;\mathsf{aud} \\ \\ \mathsf{A}_{\mathsf{I}}=-\underline{1}\;\;,\;\;\mathsf{A}_{\mathsf{Z}}=\mathsf{I}\;\;,\;\;\mathsf{A}_{\mathsf{S}}=\mathsf{I}\;\;,\;\;\mathsf{A}_{\mathsf{F}}=\,\underline{1}\;\;(\mathsf{ocl}(\mathsf{I})\;\;) \end{array}$$

By Thm 4.6,
$$\exists c_1, c_2$$
 such that
 $F(z) = c_1 \int_0^z \frac{ds}{\int (1-s^2)(1-s^2)} + c_2$
(Note that none precisely,
 $c_1' \int_0^z \frac{ds}{\int (s+\frac{1}{2})(s+1)(s-1)(s-\frac{1}{2})} + c_2$

 $c_1' \int_0^z \frac{ds}{\int (s+\frac{1}{2})(s+1)(s-1)(s-\frac{1}{2})} + c_2$

 $c_1' \int_0^z \frac{ds}{\int (s+\frac{1}{2})(s+1)(s-1)(s-\frac{1}{2})} + c_2$

Clowing
$$F(0) = 0$$
, we have $C_z = 0$
Putting $z=1$, $\frac{1}{e}$ in the formula, we have
 $K(L) = K = C_1 \int_{0}^{1} \frac{ds}{(1-s^2)(1-s^2s^2)} = C_1 K(L)$

and

$$K+iK' = F(\frac{1}{2}) = C_1\left[K(1) + \int_{1}^{\frac{1}{2}} \frac{ds}{\int(+s^2)(1-s^2)}\right]$$

$$= C_{1}K(l) + C_{1}L \int_{1}^{\frac{1}{2}} \frac{dx}{\int (x^{2}+1)(1-t^{2}x^{2})}$$

$$\Rightarrow \quad K'(k) = C_{1}K'(l)$$
By Ex. 24 of the Textbook,

$$K'(k) = K(\overline{1-k^{2}})$$

$$\therefore \text{ we have } K(k) = C_1 K(l)$$

$$(\sqrt{1-k^2}) = C_1 K(l)$$

$$\Rightarrow \frac{K(k)}{K(l-k^2)} = \frac{K(l)}{K(l-l^2)}$$

Clearly
$$K(h)$$
 is strictly increasing in k , $(O < k < 1)$ (Ex!)
 \Rightarrow $K(I - h^2)$ is strictly decreasing in k .
 $\frac{K(h)}{K(I - h^2)}$ is strictly increasing in k .
House $h = l$ and then $C_I = 1$

$$F(z) = \int_{0}^{z} \frac{ds}{\sqrt{(r-s^{2})(r-k^{2}s^{2})}} \times$$